R47%] 2HD|E L2

-
O
=x

ok

22| (AICA) sh=CH<]
2l

o

2014 /11/10
CULTURE
M

MAQ| D|=H"E71=0]| StXtz[of
2014. 10. 8~16 ZZSCHO|S 2 M2 2OlCtZ2fxt 22

1

BEMIIATCA KOATA 2014

H473| =H0|EHE7 | Startls

¥
Opt
Lot
et
03
N
=
D
o
=)
_IT‘_
|H
o
A
4>
rio

M=ol Z4F H|AlLa| 7t LXS| 7HsH HEMHH X[t 7+,
0| YTHoll = B StLtel CHE WAL FRICE HEZ X472
=N|0|S=H2712](AICA) BH=iz| Y 53], AICAE 637H=
4,50001 Ho| 2|2 ER3t MA| Xche| 2| O]=H|Z 7t
THR| 2, o JHE| =22 oHY 71 &3] 9l B3| 8 JhAls 2=
3| 0| Y= S Urh SAICH Oz HE2| siots =2|iC}
OFA|OIOf M= OFF+R(1995), =3 (1998), EFO|H|0](2003)01| A
2l b JAOL} =2 X SO|Ct O|H EAtof= 3270= &
145H0| FAMAMLE XM MEE 2G8s Zds S5 3
YEIH= 22, AICA 2|% Ot viglz] =0|C|of 27t & 0|27}
2|2 OHcHIX] S 82| R W2It7F FAs Xt2|E SlRiCt.

1/4



HM473 ZHDISHE7IEe| stati=|ot 22l S o0& e TE 2014

Stellis]= o=0|=HE7 | =293 22T F

AICA 23|F BZIH0| 7|=MCt tiFH= <0130
OjsH|E>0 = 2070= & 29| AR/t WHRICE 10
10¢ ‘"2 EE Ar=lof|l M O|=HlE, 112 '8 HESZ Altiel
HIEH 247]', 132 'OtA|O} iLHD| 0] CHet HES'S
FHIZ 2ot O 8~10HM 2| =F0| HECL £3| ALO|H
S2|7F LHDE <BERO| FI|E: RZH 'H7|'9 tHMsh> =
CHMolE Hi2tE = Sl MARlo| MA|2 Xto| S HIE =2
CHMoLE B3 E ALZRO|A 22|51 A=s B2 2SS
LACE. MU0 AIX[ZtS Set F=H OIHE XILIK|A|
A YA 2 THE AZHS SHEA 67|= Ol HEX(du-
alistic) M2t LFE HelTtn X|HSIHA|, SOtA|oele]
oot U S SAISH= THIEH (holistic) M|AI 20| THstof|
IO ZZZCt = TYA Holxt 7tA S Hi&2t=2ot
TS HIRO| F|E VG E HESHH, £ S 28t SAUH
O[SHE Solf thlist ot of2H2| ZO[7HK| =74 EXt1 H|FYCt.
LHE7L BLID o=l o[t REIE2 O LHE &R
SOBHHME S99l MHet ilgel dx, 27tS0] WA
Aelol B S2 FHSHH HHMsto| SHYS ChAl ot

8

45 12 0]
oA 12 |
el

2/4



TR0 YEIIES| X9 fIUT A SH0IeBE/S 2T BTy

O} 5HH, S5 AEL|CHS Fojlus & S22 HAtotet
DA HESHO| AL FAMEE 24510, =9
OsHE7IHES| tE 4 AICAMREY O] LET-7H0|E2
'S0l METH=E = AHUIS2| HYUS o2 STAM 2ot
Aoigol| thist MUAS FASH= EB=E 20t =4 S|
meh 22 ZHO|E CHEA| #83ts AlZe| Xto|7t TR 2

of G =ZIo[UTt. At RhEFolof HER Qlet 0j&A19|
f17|2t HIEe| Azt ZEH AE0l| Mgt =712l ol ZX|et 0lE2
7 S pldH =Sk of=e] HESH= Af2|Lt. £3| X[t
Aojo| EX= F0{7t O{={ I OFAlO X[ HE7HS0] Ert
HIMoz Hog 4= A= A7|7H OFAR] O 2|0|S HRUCE

3/4



23 NEL|CHS Foilw

of

rot

™ ofs| 5HF TH 9Y0|= +RSKOIEZ|Z0IM ot=

Ojz 52 MO|LHE 20] et= 0j&0f| S el BEJI=2
O[8HE =0l= AI2|E DHEYL). ot= otz S &'S
FHIZ 22lE FEM Ade 0| MF HAHAO| LHUCH
10Ld0f| E2I AICAO @ == 0| dFat o|UO| 242} &2
a7 S2dE 4%, 1420 X|2{T AICA (0| M=
Ot HiE2! o Fat 2T 2o|F0| AU Eot
HOXIE2 o5 8l £3| W22 0|C|{AE|ME, FAH[IEE
I3, ZFH[QI), EFARDsS, SEisa 2,
EEn|sd, WHEOIEME S YE5tH o= Ol=A2t
AZI4E 0[0] ZALY.

T tot

414



